SH: OAIED
HM: S|UASUH =2 AI (MBS /I ZMEZR)

@ SIY=XKX& (chg:®
SN FHE B (BA) - MEAY - AR ggi) @(ijf;ﬁ% HRE2
=== 2,888,892 2,989,255 A 100,363

= 1,045,704
J| 9,160
== 154,868
Al 1,679, 160
S USUF =SS AI(ASEX /I ZHEEE) 1,415,600 1,428,959 AN 13,359
= 721,746
== 68,794
Al 625,060
SIU= XX 1,415,600 1,428,959 N 13,359
= 721,746
= 68.794
Al 625,060
NASS =220 &8 K& 20,000 20,000 0
301 ot A= 20,000 20,000 0
01 AMIIEEE=6=2 20,000 20,000 0
= 0l & 20,000 20,000 0
OAMZXIN It XK (SOSHESH)
500, 000& =40 Al CH 20,000
2= XX A 719,487 633,187 86,300
= 573,126
== 42,984
Al 103,377
201 A E2 A Y| 2,000 1,600 400
01 Ar®2teltl 2,000 1,600 400
= 0l & 2,000 1,600 400
O222X,S0SHE =22 Mz
200& =5, 0000H 1,000
O22EX4a935 3oz¢
100,000& *10H 13| 1,000
202 0| 1,080 1,080 0
01 2L 1,080 1,080 0
= 0l & 1,080 1,080 0
O2Z2E2X g2F8 &MY
60,000 x2H 3 *33] 1,080
301 Bty Al 716,407 630,507 85,900
= 573,126
c 42,984
Al 100,297
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SH: OIS
Zal: 5| YSL
Sel: sY=X

A& (e &
SA BB (3AH) - HRAY - BA= (o) ) HDE 2
01 AMEXESHS 716,407 630,507 85,900
= 573,126
= 42,984
Al 100,297
= 0l & 716,407 630,507 85,900
= 573,126
= 42,984
Al 100,297
Oz=a2=X X3 A 716,407& %1,000A 716,407
= 573,126
& 42,984
Al 100,297
J=Metxg Xt ¥ SXNANLdHER S5 K& 184,400 184,400 0
201  et2g| 400 400 0
01 AP 2e2ldl 400 400 0
= 0l & 400 400 0
O & 92 AEIH HZE 402 x5,00001 23| 400
301 LEEAZF 184,000 184,000 0
01 AMSEEESHS 184,000 184,000 0
= 0l & 184,000 184,000 0
OAM3I=XNALE MEX A=
10,000& * 1,200 *23| 24,000
OJizdgs=2 Xkt fIZ
20,0003 x4, 000 CH =23l 160,000
ZECW AHRA 29,960 28,510 1,450
= 5,416
Al 24,544
301 LErEAZ 2,880 2,800 80
12 JIEtE2 &3 2,880 2,800 80
= 0l & 2,880 2,800 80
OFCW3 THIASAML 2L
8,000&*x3Y 10 x128 2,880
307  2I2tolA 27,080 25,710 1,370
& 5,416
Al 21,664
11 ASSAAEES 27,080 25,710 1,370
= 5,416
Al 21,664
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SN =D
Hal: 59
Shel: 8y

NE (£9: 62
SA BB (3AH) - HRAY - BA= (o) ) HDE 2
= 0l & 27,080 25,710 1,370
= 5,416
Al 21,664
OFcdWa2diA 27,080,000 *14] 27,080
= 5,416
Al 21,664
SESAMAZ2IAN 1A XA (=AY LXal) 194,991 204,152 A9, 161
101 o244l 194,991 204,152 A9, 161
04 JIZtHZZ2NSES 194,991 204,152 A9, 161
= Ol & 194,991 204,152 A9, 161
OSArell &2l A 2124d] 194,991
-JI2= 2,050,000 x9H »8& 147,600
— A2t 2224
14,0403 x10Al 2+ x9H +8& 10,109
—=304H3 147,600, 000& *4 . 5% 6,642
— 22 147,600,000 *3. 12% 4,606
=k = 147,600,000 *1.5% 2,214
—&MHEE 147,600, 000& *0.8% 1,181
— &I RIYLE 4,280,000 *7.38% 316
—EA=0EsE =2 160,040 »9Y «8 & 11,523
— A Y| 120,000 x9Y 8 & 8,640
— 220 bl 60,000 x9Y =4 2,160
S At 2tel XI& 15,000 15,000 0
= 7,500
= 2,250
Al 5,250
202 Ol 1,500 1,500 0
= 750
& 225
Al 525
01 =LHObI 1,500 1,500 0
= 750
225
Al 525
= 0l & 1,500 1,500 0
= 750
= 225
Al 525
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A S USUSSHEHCA(NSZX /I MBS
Sel: S Y= XK (2@
x s . O &t o8 & & 0] Ak o -
SA - B ER(SH) - HRAY - BES o o0 HRE2
= 0l & 1,200 0 1,200
OssAYBE HE SR
50,0008 *1CH 122 600
OssABE MY Sl
150,00021 *1CH +43] 600
202 o4l 4,782 2,160 2,622
01 =0l 4,782 2,160 2,622
= 0l 4t 4,782 2,160 2,622
OslY=x ALEF SO
60, 00021 *62 %22 +33] 2,160
OSY=SNNVH LR S SHE X2
=301t 702,00021 * 14! 702
OMEESE Ot 20,0002 *8! 128 1,920
203 ALEIY| 3,000 4,000 A1,000
03 AHEAYLEZY| 3,000 4,000 A1,000
= 0l 4t 3,000 4,000 A1,000
OSY=XNNNH 29 L ARHAAD A
UESE=PTIE S 3,000, 0008 *14] 3,000
206 Ml 2,000 7,400 A5,400
01 W 2,000 7,400 A5,400
=0 & 2,000 7,400 A5,400
OUIIOIHE B HE S P
200,000 +10% 2,000
OlsSEHY 2 30,000 30,000 0
307 Q120 H 30,000 30,000 0
1 AMESTAYEE 30,000 30,000 0
=0 4t 30,000 30,000 0
O0lS mefy 2% 125,000 x2403] 30,000
SPis 25 SHHHIA NA(SUE =Xs935 201,600 149,200 52,400
)
2 141,120
= 18,144
Al 42,336
201 Yur2Hl 100,800 59,680 41,120
2 70,560
= 9,072
Al 21,168
01 AtRE2lY| 100,800 59,680 41,120
2 70,560
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crol: Y= RN CERT
M- =3 S92 (3) - HEAY - a2 (ggj) @(ijf;ﬁ% HRE2
01 At 2t2ldl & 9,072
Al 21,168
= 0ff &F 100,800 59,680 41,120
= 70,560
o 9,072
Al 21,168
OsHs U8 SEAUIA XA 100,800
—Jl2g 29 N& 4,200,000& *504 A 21,000
= 14,700
== 1,890
Al 4,410
—d#gy 29 XA 9,975,000& =84 A 79,800
= 55,860
== 7,182
Al 16,758
301 ot A= 100,800 89,520 11,280
= 70,560
== 9,072
Al 21,168
01 AMSIEEE=6 =2 100,800 89,520 11,280
= 70,560
& 9,072
Al 21,168
= O & 100,800 89,520 11,280
= 70,560
== 9,072
Al 21,168
Os8s XFE Atdl22 X3 AFSHI 100,800
—Jl2g Al 4,200,000& x50 2~ 21,000
= 14,700
== 1,890
Al 4,410
— HSE A 9,975,000& *8IH 4~ 79,800
= 55,860
== 7,182
Al 16,758
SRAUSC ST A(BAH/BEHIR) 642,106 777,743 N 135,637
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SN HEIED
BE: SRl SHEHTA(ZA/2A2)
SH9l: SR ADAS ABEA (2@
x s . O &t o8 & & 0] Ak o -
SA B S(BH) - MEMY - BES iz T BlRE2
201 Ysregl 25,600 38,000 A12,400
01 At el 25,600 38,000 A12,400
= 0 &t 25,600 38,000 A12,400
OALSH AHQ o 2|
300,0002 * 122 3,600
OALYSH HHQ 2EZ N L E22
HI= 500,0002 *23] 1,000
OANQIALZIIHE 222 HE S
500,0002 23] 1,000
OALOHSOSI| AP 5,000,0002 «47H £ 20,000
202 Ol 1,080 1,080 0
01 2UoiYl 1,080 1,080 0
= 0 4t 1,080 1,080 0
OALMBAY D] L WO
60,0002 *32 %22 *33] 1,080
we Ay el 457,918 486,403 £28,485
2 48,036
| 9,160
= 22,966
Al 377,756
Zols BE24A ALY 200,277 173,810 26,467
201 Yur2YH| 33,600 45,940 A12,340
01 At el 10,600 18,400 A7,800
=0 4 10,600 8,400 A7,800
Of=2aAl AZY BHALEBE 7Y S
10,0008 * 122 1,200
O#=2aAl AZY M@ 222 H
200,000 %5 1,000
Of=2aAl AZY TESAK IS LA
ot 20,0002 *5% *33] 3,000
O =24A ATY 222 M
10002 *3,00004 13l 3,000
O Z24A AZY 2% AE L 424 NE
Hl 00,0002 * 128 2,400
02 T2 20,000 25,040 A5,040
=0 &t 20,000 25,040 A5,040
O =24Al AZY OISTSXY L L)
Sl 1,100,0002 « 122 13,200
O#=24A AZY X T2
30,0002 * 128 3,600
O#=2aAl ARt 2 EH ST 22
40,0008 *10% 83l 3,200
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el
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Oll &F o

& 1 = 0f 4 o

SA B S(BH) - MEMY - BES iz T BlRE2
03 A2 3.000 2,500 500
=0 3,000 2,500 500

O#=24Al A S DHH3]
3,000,000 #14} 3,000
203 YR 1,000 1,000 0
03 ANEZFALEZY 1,000 1,000 0
=0 1,000 1,000 0
Ogels #=24A AZY 280 TGE A
soe =z 1,000, 0002 * 141 1,000
206 THZH] 9.777 23,130 £13,353
01 MEHl 9,777 23,130 £13,353
= 0l & 9.777 23,130 ~13,353
O#=24A MY MBNHIA HED
814,750 « 122 9.777
01 YsBaz 30,900 23,940 6.960
09 BAAH 24 540 540 0
=0 4 540 540 0
OB=24N MBY BA EAX S A2ll2
90,0002 *6% 540
12 JEEA3 30,360 23,400 6,960
= 0 & 30,360 23,400 6.960
O#=24Al AZY NBZAX SAH ¥
DSyl 11,0008 %258 * 122 3,300
OB=0I2 AY2AH HASBAK SAH »
DEH| 11,0002 205 % * 128 27,060
307 eI0IH 68,000 43,000 25,000
NREELEETT 68,000 43,000 25,000
= 0 & 68,000 43,000 25,000
O#=24A MY OI%E L B0 otE
29 16,000, 0002 #43] 64,000
O =24Al AZY ADADE (YA 2
g s) 2y 1,000, 00021 43| 4,000
405 XrarE S 57,000 36.800 20,200
01 RMLSBHSH 57,000 3,800 20,200
= 0] & 57,000 36.800 20,200
O#=24A M2 29 2SI 2 17,000
— oropd 500,000 *5CH 2,500
— HHR B 200, 0002 #5CH 1,000
~ HEDX 2] 3,000, 0008 =24 6.000
— &SRB 2,500,000 =34 7,500
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SH: OIS
A SRS EHESTA(RH/2AAR)
Sl geAL e (B9 @2
x s . O &t o8 & & 0] Ak o -
N-Z3H.22(3H) - MREAY - BES (Z= o) (713 o) Hns2
SEEEEELEEEEEE
5,000%! 2,500% 12,500
2 H%Ns ssuE 30,940 27,728 3,212
= 10,611
Al 20,329
307 9I2HOIH 30,940 27,728 3,212
= 10,611
Al 20,329
01 22YRRY] 30,940 27,728 3,212
= 10,611
Al 20,329
=0 30,940 27,728 3,212
= 10,611
Al 20,329
OYRY2sTE 42 JAAE 29
6,646,000 *14] 6,646
= 3,323
Al 3,323
OSIZHANE YRBA 42 AUE 7Y
24,294,000 *14! 24,294
= 7,288
Al 17,006
Wb eEel XA 18,320 13,426 4,894
| 9, 160
= 2,748
Al 6,412
201 Yer2 gyl 4,700 1,800 2,900
| 2,350
= 705
Al 1,645
01 AtR 2| 2,700 1,800 900
gl 1,350
= 405
Al 945
=0 & 2,700 1,800 900
| 1,350
= 405
Al 945
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HM: SRS =dEESITA(BA/BEHIZ)
o BB CER-E
SN BB S(BH) - MBAY - BaS (ggj) @(ijf;ﬁ% HRE2
OISR AE E22 HE
1,860 *1,000H 1,860
Dl 930
== 279
Al 651
OIS eI IFXR2 2AHY|
140,000& =63 840
J| 420
== 126
Al 294
03 AIRHH| 2,000 0 2,000
J| 1,000
== 300
Al 700
= 0l & 2,000 0 2,000
J| 1,000
== 300
Al 700
OIS X222 AL 29 (M E b
s) 1,000, 000& *23] 2,000
Dl 1,000
== 300
Al 700
202 04| 1,440 1,200 240
Dl 720
== 216
Al 504
01 Z2LWAH 1,440 1,200 240
J| 720
& 216
Al 504
= 0l & 1,440 1,200 240
Dl 720
== 216
Al 504
OMIItL e T2 ALY &2 oYl
60,000 x4 H 22 x33| 1,440
Dl 720
= 216
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A &8s
HM: SRS =dEESITA(BA/BEHIZ)
o BB CER-E
SN BB S(BH) - MBAY - BaS (ggj) @(ijf;ﬁ% HRE2
09 AIAHIEAZ 1,140 1,140
= 0l & 1,140 1,140 0
OMIF & N2 A 2 AH|
3,000 76 x53] 1,140
SEHA 2 ALY 106,251 151,576 N45,325
= 48,036
= 9,607
Al 48,608
101 ol 24 H| 74,859 79,096 N4, 237
= 32,340
= 6,468
Al 36,051
04 JIZtHZ2ZXNSE 74,859 79,096 N4, 237
= 32,340
o= 6,468
Al 36,051
= 0l & 74,859 79,096 N4, 237
= 32,340
== 6,468
Al 36,051
Ogt2A A2 AIY JI2HM228 2123
1,750,000 x3¥ 122 63,000
= 31,500
== 6,300
Al 25,200
OJI2ZtH 22X stHEgE JIARE2 6,579
—=0d3 64,800, 000& *4.5% 2,916
—2AHAEE 64,800, 000& *3. 12% 2,022
- 188E 64,800,000& *1.5% 972
— A YEE 2,021,760& *7.38% 150
—MHEE 64,800, 000& *0.8% 519
OJItH 22 A 2L Bl
100,000 *x3H x12& 3,600
Odr22AadZelAte JI2tH 22 X+ 22 ¢ bl
60,000 *3H 22 x23| 720
= 360
== 72
Al 288
Ogt2Ad2elAle JI2tMZ2 2 X+ O 24|
160,000 »3H 480
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o BB CER-E
SN BB S(BH) - MBAY - BaS (ggj) @(ijf;ﬁ% HRE2
= 240
== 48
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OYU2AHUTEAIY J2ZHNI2Z2LN EDS
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== 48
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201 B2 A Y| 10,000 8,000 2,000
= 5,000
== 1,000
Al 4,000
01 AR 22|yl 10,000 8,000 2,000
= 5,000
== 1,000
Al 4,000
= 0ff & 10,000 8,000 2,000
= 5,000
= 1,000
Al 4,000
OY2AnLHZANYE E22 HMEH
5,000& x1,400H x13l 7,000
= 3,500
= 700
Al 2,800
OYwESABBRIAY APBE 7Y
500,000 *63] 3,000
= 1,500
== 300
Al 1,200
307 QIz2to| & 21,392 57,480 AN 36,088
= 10,696
2,139
Al 8,557
01 =P =H| 21,392 57,480 A 36,088
= 10,696
c 2,139
Al 8,557
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OYSAYZIANY AE L 42E 79
1,392,000 *14! 21,392
2 10,696
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Al 8,557
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